## **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 15 - Aboyne Upper Deeside and Donside		
Valid Votes	4,841		
Positions to be Filled	3		
Quota	1,211		

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Peter John ARGYLE	Scottish Liberal Democrats	846
Geva BLACKETT	Independent	1,098
Sarah BROWN	Scottish Conservative and Unionist	1,029
Anouk KLOPPERT	Scottish National Party (SNP)	1,049
John LAWSON	Scottish Labour Party	179
Claudia LEITH	Scottish Conservative and Unionist	640
	Total	4,841

## **Transfers Report**

This report contains the transfers results.

## Stage 2 - Exclusion of John LAWSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Peter John ARGYLE	62	1.00000	62.00000
Transfer to Geva BLACKETT	29	1.00000	29.00000
Transfer to Sarah BROWN	11	1.00000	11.00000
Transfer to Anouk KLOPPERT	42	1.00000	42.00000
Transfer to Claudia LEITH	13	1.00000	13.00000
No further preference	22	1.00000	22.00000
Not transferred due to rounding			0.00000
	Total		179.00000

## **Transfers Report**

This report contains the transfers results.

653.00000

## Stage 3 - Exclusion of Claudia LEITH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Peter John ARGYLE	42	1.00000	42.00000
Transfer to Geva BLACKETT	46	1.00000	46.00000
Transfer to Sarah BROWN	531	1.00000	531.00000
Transfer to Anouk KLOPPERT	7	1.00000	7.00000
No further preference	27	1.00000	27.00000
Not transferred due to rounding			0.00000
	Total		653.00000

## **Transfers Report**

This report contains the transfers results.

360.00000

# Stage 4 - Surplus of Sarah BROWN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Peter John ARGYLE	497	0.22915	113.88755
Transfer to Geva BLACKETT	433	0.22915	99.22195
Transfer to Anouk KLOPPERT	28	0.22915	6.41620
No further preference	613	0.22915	140.46895
Not transferred due to rounding			0.00535
	Total		360.00000

## **Transfers Report**

This report contains the transfers results.

## Stage 5 - Surplus of Geva BLACKETT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Peter John ARGYLE	520	0.04812	25.02240
Transfer to Anouk KLOPPERT	279	0.04812	13.42548
Transfer to Peter John ARGYLE	148	0.01102	1.63096
Transfer to Anouk KLOPPERT	7	0.01102	0.07714
No further preference	374	0.04812	17.99688
No further preference	278	0.01102	3.06356
Not transferred due to rounding			0.00553
	Total		61.22195

### 61.22195

## **Transfers Report**

This report contains the transfers results.

## Stage 6 - Exclusion of Peter John ARGYLE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Anouk KLOPPERT	308	1.00000	308.00000
Transfer to Anouk KLOPPERT	101	0.22915	23.14415
Transfer to Anouk KLOPPERT	189	0.04812	9.09468
Transfer to Anouk KLOPPERT	68	0.01102	0.74936
No further preference	642	1.00000	642.00000
No further preference	396	0.22915	90.74340
No further preference	331	0.04812	15.92772
No further preference	80	0.01102	0.88160
Not transferred due to rounding			0.00000
	Total		1,090.54091

### 1,090.54091